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QUESTION NO: 1

Which of the following connections does not exist during the VNS bootstrapping process?

A. Proxy to NSG

B. Proxy to VSD

C. NSG to VSC OpenFlow-TLS

D. VSC to proxy

ANSWER: D 

QUESTION NO: 2

What type of NAT is used so that any external host can send to iAddr: iPort by sending traffic to eAddr: ePort? (i=internal, 
e=external)

A. Full-cone NAT

B. Address-restricted NAT

C. Port-restricted NAT

D. Symmetric NAT

ANSWER: A 

QUESTION NO: 3

Which of the following statements about the NSG support for NAT-T is TRUE?

A. NAT-T is a network port level attribute.

B. NAT-T NPM probes are disabled by default.

C. Direct Symmetric to Symmetric mapping is supported.

D. Address restricted mapping requires the use of two NPM probes.
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ANSWER: A 

QUESTION NO: 4

Which of the following is NOT defined in the NSG infrastructure G/W profile?

A. Identify the VSD proxy

B. Enable two-factor installer authentication

C. Port speed and mode

D. NTP, stats, syslog server

ANSWER: B 

QUESTION NO: 5

Which of the following statements about the NSG vports is TRUE?

A. The NSG responds to DHCP requests on a host vport by default.

B. A host MAC address is dynamically leaned on a host vport.

C. A host vport allows multiple devices to be connected through a switch.

D. IP address assignment is handled by the NSG for a host on a host vport.

ANSWER: D 

https://dumpsqueen.com/

